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var OlapGrid = Matrix.getObject ("OlapGrid"):
OlapGrid.Options.EnableWriteBack = true; //Write-back Z4ot
OlapGrid.Options.EnableCreateRecord = false; //ZE7 gl 42 HILQ YIE IE 44 o
OlapGrid.options.ManualUpdate = false; //+=5& A4 €% o=
2. TCHE MM W2 4 2|
GOIHES =8 Al +TE 22 HOIHAS ¥A HIE0 Bi2A S st7|flet #A2 otgfel SHo2 =Y 7tsoL Lt
A Stel A =489 EE
+FE HO|HE YRELZ Hi st YAlS BFSLCH
(3. HiZ LA 42 &X)
. ) 1: 7S X] Hi 2
(int) EditMethod 2. ASHjE
. ) S ES\EE
OlapGrid OlapField 3: 7HSX] B2 (force)
4 ZSHIE HiF(force)
(int) EditPrecision GlOlEf B Al GIOIEfo] =i A4H X3 =5 HYPLCH
Hj 2 HhAlo| 7S XY B2 7I5X|0f siEdt= 42 7HK|= ZEQ| 0|22 MHETH
(string) EditMethodRef El: A0l 7HS A2 FR 7S X 0f siddts 42 7HKl= EEQ 0|2 €L
<ME AAS
var fld = 0lapGrid.getField("M1")
fld.EditMethod = 1; //7I5# Hig
fld.EditPrecision = 0;
fld.EditMethodrRef = "M2";
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WHERE P1=2";
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2! var reg = Matrix.getRegquest(); // reguest
3 var con = Matrix.getConnection(); // dbms connection
4! wvar util = Matrix.getUtilitwy();
5! var gen = Matrix.getQueryGenerator(); // guery gensrator
6 wvar sgl = "";
7 war status = H
g8i wvar row = null;
9 wvar stmt = null;
10: wvar stmtInsert = null;
11 var ROW_IDX = 0;
l1zptryd
13 //connection
Target DataBase 2 % 14 con.Connect ("MTXRPTY") ;// set target dbms connection code
15 con.BeginTransaction(); // begin transaction
Transactionsaction Al f 16
17 1z
& // save table data
" 19 I
OlapGrid ZAEZ 0] M =75t var table = reg.getTable ("ClapGrid"); //gst grid's work data
HIOlH HO|2 727 21
22 sgl = "UPDATE MEX_ USER_CRUD DATA SET M1=7, M2=7, M3=7
23 stmt = con.Prepared3tatement (sgl);
24
25 sgl = " INSERT INTC MEX USER_CRUD_DATA(Fl,D1,D2,D3,D4,D5,D6,D7,D8,M1,M2,M3) "
26 +" vALUES (?, ?,2,2,2.2,2,7,%7,2,2.2)";
27 stmtInsert = con.Prepared3tatement (sql);
28
OlapGridOfl Al £ B 0] B = 29 /* onap2 HOIH? @& =+ 222 Callh:ack% =B, */
table.FetchRows (CALL BACEK (function (row) {
W7t Ee 7L A THE 31 ROW_IDK ++; -
|E'_E|01|—QE|X| j_sux:ui 32 status = row.getRowStatus();
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var

IDX = 0;

if(status == "U"){

]

stmt.setDouble (++IDX ,
stmt.setDouble (++IDX ,
stmt.setDouble (++IDX ,
stmt.setString (++IDX ,
stmt.addBatch () ;

else if(status == "N"){

}

stmtInsert.setString (++IDX
stmtInsert.ssetString (++IDX
stmtInsert.setString (++IDX
stmtTInsert.sstString (++TDX
stmtInsert.ssetString (++IDX
stmtInsert.setString (++IDX
stmtInsert.setString (++IDX
stmtInsert.sstString (++IDX
stmtInsert.ssetString (++IDX
stmtInsert.ssetDouble (++IDX
stmtInsert.sstDouble (++IDX
stmtInsert.sstDouble (++IDX
stmtInsert.addBatch();

return null;

0N

stmt.executeBatch() ;
stmtInsert.executeBatch();

// COMMIT
con.CommitTransaction();
con.DisConnect () ;

con = null;

- catch(e) {

row.getDouble ("M1")) ;
row.getDouble ("M2")) ;
row.getDouble ("M3")) ;
row.get3tring("P1l"));

util.getUniqueRey ("P")); //primary key
row.getString ("D1"));
row.getString ("D2")) ;
row.getString ("D3"));
row.getString ("D4"));
row.getString ("D5")) ;
row.getString ("DE")) ;
row.getString ("D7")) ;
row.getString ("D8")) ;
row.getDouble ("M1"™)) ;
row.getDouble ("M2") ) ;
row.getDouble ("M3")) ;

Matrix.WriteLog ("ERROR" + e.message); I

if(con !
tryl

= null) {

con.RollBackTransaction();
con.DisConnect();
con = null;

lcatch(s) {

}
}

Matrix.ThrowException("Ssrver Exception:" + =.messags);

M }£inally{

if(stmt
try{

= null){

stmt.Close();
stmt = null;

}catch(e) {

I

H

if(con !
tryl

null) {

con.DisConnect();
con = null;

}catchie) {

}









